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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.

Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
i 32 4 Ep g S e S e S e S | 1
S Which of the following characteristics of a
Wavelength Amplitude Frequency Speed wave is independent of the others.
Jid k5L S e N7y e S B S L AL eebn S a2
Sound level Quality Intensity Frequency |The characteristic of sound < duf.ff I A
by which we can distinguish between two
sounds of same loudness and pitch is called.
3 5 4 0 eI Sl oy sue| 3
Number of lenses used in a slide projector is
300000 30000 3000 300 -G E e AL FE g T L) 4
At night we can see the stars in the sky
without telescope.
Jrbid Livl Syme Sfiftplrocd| s
10V SV 2V 0.5V -{ﬂjjid}?c}‘_l/u:gatl;u;udi-{_L'S;t/r_f;r
Lgof work is needed to shift 10 C of
%%_ % one place to another. The
potential difference between the places is
s Fol N Jz - (SN ST A Py 6
Volt Ohm Coulomb Joule S1 unit for potential difference is
cden? | dnfUe | < denf P e ibala6k| 1
Vanishes No change Decreases Increases | If we increase the area of wire. Then its resistance.
PAe P as AT et L e i ronbirsss| 8
Slip rings Brushes The Armature | Partofa D.C -5 EJ;J_A;J(&’JJ;;L':
Commutator motor that reverses the direction of current
through the coil after every half cycle is
ik | P Fopd! Sy | e tbuntkinPe L /SRS ] 0
Thermionic : i p The process by which electrons are emitted
Emission senduction Evaparation Beling by a hot metal surface is known as
AE >4 haSs 56 i dﬁy/.ﬂj JJ/K’J..,FM!;.;»’I 10
Glass Cathode Tungston Phosphor The screen of a calhode ray tube consists of
a thin layer of
LAy JJ/’-’( !létf S /?L - (;/LJ K(LJ){{L{U/ 11
Control unit CPU Memory Moniter The brain of any computer system is
YN’ Ak | A12aIL | ALK | g QWA Sz e 2 S b B 0| 12
Beta Alpha Background Cosmlc Radiations present in atmosphere due to
Radiations Radiations Radiations Radiations |different radioactive substances are called

1081-1019- 58000 (1)

- Ca\ - A

@




«Ufg < a{ sy L
(1) ol Gk
a8 4F

Pari

/:" ;_Ju ‘_/_;..a‘ { =24 it :__,6,:{;
(2015-17 to 2017-19 %) (z&)  J9

(035 %)
1

(¢r2412) 1019

& 1.45 -5

Uil -~

Answer briefly any Five parts from the followings:- 5x2=10 -L[,&/’.:‘LL?./‘?LIZF $E¢.Jf¢.uﬁgbéu -2

rove that v= /4

Jefine Restoring force in vibratory motion of simple pendulum
which component of the weight act as restoring force.
A wave moves on a slinky with frequency of 4 Hz and
wavelength of 40 cm. What is the speed of the wave.
How can the Cracks detected by ultrasonics, appear in
interior part of high speed heavy machine?

What is the audible frequency range for human ear.

Write the method of finding the direction of magnetic field

around a current carrying conductor.

How can the total force acting on the armature in DC motor can be increased.

What is meant by electromagnetic induction.

Answer briefly any Five parts from the followings:-

State Laws of Reflection of Light.
What is difference between centre of Curvature and Radius of Curvature?

The Power of a Convex lens is 5D. Calculate its focal length.

What is difference between data and information?

What is meant by secondary storage devices? Write the names of any two devices,

Define Word Processing.

Find the number of protons and neutrons in the nuclide defined by 'g X

What is meant by Alpha Decay? Write its general equation.

v=fA_zk (i)
Kuis Ut S A izl 25 S £, (i)
e IS L 3 el Lol
<40 om 5414 Hz ) 3 B UV £ P il
S Uiy Juﬁlz‘: UE S I g e Je Ll u’giﬂl (iv)
bl K szr S st
R e s ese S Lok U1 (v)
Sy PR S ebhc e S GEL il oS G (i)
e Bl I Sy 2T 2563 (i)
= d" Ve fg:i _@,_O, I {viii)
5x2=10 _q.»'}i...wﬂ'éiyl She e itn -3
Yk LIIL u"c"JJu 0]
?L):JE J/’u-fz-sf._; f‘ﬁgusl}:/_: A (i)
sy B i s SRS i)
S UGBS (iv)
_5{ /Zr't L J/ Sl Ve ;(‘/Igi ik (v)
SIS BPE Lyt (i)
-L,_Vfl’)i”lh;(;fj}ﬁmﬁ}{\ﬁ{_ggﬁwc. IgX .:/Iluru) Igﬁ (vii)
Efame S Uit e L $300 (viii)

Answer briefly any Five parts from the followings:- 5x2=10 /.2 A=z ZL121 §} o S L Sfstn -4

State Coulomb's law. S eI (i)

Write any two characteristics of a parallel combination of capacitors.

What is meant by ohmic and non-ohmic conductors?
What is the direction of conventional current in a circuit?
Convert one kilowatt hour into Joules.

How electron gun work in cathode ray oscilloscope?

Define electroscope? ,u’f - /’J __,,ﬁ,/@ (i)
u‘ﬁuﬂ,;gj{d’f‘){)’ﬁﬁﬂ (iii)

-~y l{c../fyl:ul sl Lasl (iv)

s Jng'yd'&/&”‘-fgﬁ_'& (v)

2L et Jz S unTan g L (vi)
"r_.. dfr(t,/uzf’u:/alw ...JF:L“JIA...J - (vii)

“JJ}’,/ Koot (viii)

Write the truth table for NOR gate?
Part IT (2 -~
Note: Attempt any two questions. 9x2=18 ..q/;}..-.l,l.z[. Sy J/ -
Define myopia and explain it with diagram. (A8 qf_vuj.:.rF/?ii.»:!u:‘a..Q/TJ(y,leL)d}j..f_} 0.5
If a AnarKali Bazar Lahore intensity level of sound is 80 dB what (£5) (/17 80 dB s MH’J::L-JAJI_.&:H/’I ()
will be the intensity of sound there. el sl St
Explain the energy dissipation in a Resistance. What is Joule's Law? (~4) -é’ e IT ¥R 2 i =l (Gt Ut J“"u..ﬁ O-6
The force of repulsion between two Identical positive charges is 0.8N.  (78) Zub2<.0.8N S J‘y OenL 24 fhif & s (o)
When the charges are 0.1 m apart. Find the value of each charge. _q)}:l”;l}gf Libes Jund .‘:;,;J:ﬁti): 0.1m
A 2ol JSL S BL _Fhon i )7
79§ 14k J 5730 S § 14-g8 (o)
8K = L:rd_ L by /\.f *:;‘ K6 Jlj}_!

Explain the working of different parts of cathode rays oscilloscope.
Carbon-14 has a half-life of 5730 years. How long will it take for the
quantity of carbon-14 in a sample to drop to one-eight of the initial quantity?
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(D) (C) (B) (A) QUESTIONS Q-1
LSS | Lunif | b2l SE R Va1 - ek 342 5E S S| 1
Chemical 2_.; 2 Buming < Nuclear Release of energy by the sun is due to

reaction Nuclear fusion of gases fission
S Wk | Bl | stk 2
Mﬁ:::\?g;ca! Particle waves Elecagrcggnetic St‘iggg:-slry Radio waves are |

s s Y sy i kL e SIS JiiH| 3

Water waves | Radio waves | Light waves | Sound waves |Which is the example of longitudinal waves
3.5x10% ms™! 2x108 s 2.3x108 s~ 3x108 s~ e e St f| 4
Speed of light in glass is approximately
1.31 1.32 1.33 i ’ ex of iceis. - Q’E}vl fg/: ¥zl 5
9x10* Nnc? | 9x10° Nnde® | 9x10° N |G -+l UKL Y | 6
. value of K in Coulomb's law is
%4 32 Aol RS T Vel I
Ampere Farad Ohm Volt The unit of resistance is
I Ns 1Js™ 1 Js 1Js?  |One watt is equal to e szsts L[ 8
Pp # P, Pp > P Pp <P, Pp = Pg ‘ < Lrnidiifl s
For an ideal transformer
29 A 76§ yrs pE L 10
Inverter Transistor Amplifier Conductor [NOT gate is also czlled
,‘w J £ F3Y ¢t F¥8/ECRO | 11
Zero Neutral Negative Positive In CRO, the Potential of grid is
w 1 g s el e T o] 12
10 8 4 One byte is equal to bits
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Answer briefly any Five parts from the followings:- 5x2=10 -q&f.-..;tzﬁ"éxzr égc.-_.dfc.ptd‘_.ib;: -2
Distinguish between longitudinal and transverse waves. _é._’.-(_/fu"/]ﬂ s Jus il J’;é’gf (i)
Write an activity that shows that water waves transfer energy s i.xl%{&f&& Srnetba u’fq)}fdf/(ﬁf (ii)
without Transfer of medium. Y J/J’“‘LGL;/»;J?_Q,_HL J‘:‘J@f&;ug,
Write at least two features of Simple Harmonic Motion. _q/}/‘-;“uﬁ"» JJrJn; Jfﬂlﬁ’ (iii)
What is meant by intensity leve! of the sound and what is its S.I unit, S/ fe S KUl -colp e Jo $IL kst (iv)
For hearing distinct echoe's write necessary conditions. _q)}/’ﬁgﬁdﬁﬁzg& £ 5b (v)
State Fleming's left hand rule. S e ¥ 5, SLE L (i)
Define Faraday's Law of Electromagnetic induction, also state ﬂ:,fq/f_g/"guﬁ'}f _@Qs}’?f...i T;Ud.’.:_il,é (vii)
at least one factor affecting induced e.m.f. N SATYEY S SRR P f’ﬂ
State the working Principle of electric motor. duj/uy. & Jfr'(.; Jr! u’(/'r.f}-.a' (viii)
Answer briefly any Five parts from the followings:- 5x2=10 -//z/eliz ZL121 §le e L dits -3
Write two laws of refraction of light. . Sk LIl L-)ﬁg); i (i)
Define power of a lens and write its unit. \ -u:’g_’;g (fmi ujf_gf"'JA ..il'»g (ii)
What is meant by software? el '_.vrc“../':s S (iv) Define and write iens formula. éfasqu.é!/‘?(fur;ﬁ}f (iii)
What is meant by telecommunication technology? Sesl/ Ve J:’lf?gﬁ“g::"t.}.’ (v)
Write two uses of radioisotopes. &b =y, as /l';j)},.e (vii) Write two services of internet. _é Z f-.:.l.x'v n J 22 (vi)
Define the term atomic number and atomic mass number. -u_’/...g»',-/"'J/:“JL Jt*u,r/-f'.fel (viii)
Answer briefly any Five parts from the followings:- 5x2=10 -q&/’..-,ymﬁélzl éi; :.Jfr_.gﬂu.b‘lw -4
What is the working Principle of an electroscope? e Vb Ki.)’rb’{_;:a;}gl (i)
Define electric field. Write its unit also? Sy g S S G
Define unit of power. ‘.‘gj/._éfﬂf.:«':_’ J::sl; (iv) Whatis meant by Filter circuit? -t %‘:Z._v?ﬂ’ (iii)
How do the Jewellers identify diamond as real or fake one? - ifc"fug Jé._y: g}’i:fd"lﬁg.ﬁj)f (v)
What is the difference between a fuse and a circuit breaker? e DI A LSS i (vi)
How the filament is heated in an oscilloscope and why is it heated? -Ur Z.f(f ux( elnle bl l_frfcf :Q.:»Lﬁuﬂ .;.:""r.‘.‘ﬁ (vii)
Define NOT gate. Draw its symbol. ek ¥y S S NOT (i)
Part Il e 2
Note: Attempt any two questions. 9x2=18 Szl ctlrne 8w

Expiain refraction of light through a glass slab with the help of diagram. (74 uj/..vu; d’ uf!,f; J L's:u.:..vd ..,;VJL&;. Y4 er‘l’i 0)..5
A pendulum of length 0.99 m s taken to ihe moon by an astronaut. The  (78) —&-tbd 44k _< 0.99m RPNY t/?/H,.:-; AL (L)

period of pendulum is 4.9s. What is the value of g on the surface of moon. el Veidg Y f,’ngg - 49sis L’H:,‘r;
Discuss the main features of parallel combination of (A4) sl éu_l_f. .;yyjfi J;;f;;af‘_:;.; 2;,.);}’!,5 O-6
Resistors and determine the equivalent Resistance also. _é r}"u‘- J'“"b Sl J V-]
The electric potential at a point in an electric field is 10°V . (45  10'V -:.-EJJ#%{..'JL;' Sl S L) ()
If a charge of + 100 ¢ is brought from Infinity to this point, LY Ul lei»ﬁufb;g L1 100 e )’I-f_
what would be the amount of work done on it. Wy tS s |,-;f< ULy
What is meant by cathode ray oscilloscope. Explain the (o) £ 5 L el e ?”ﬁ’jﬁ‘-" el 0.7
waorking of different parts of oscilloscope. !‘L,f/ =2l d’ J'
Cobalt-60 is a radioactive element with haif-ife of 5.25 years. (/5 JL-26 . Ju 5.25 U S\ 60-20 55174, ()
What fraction of the original sample will be left after 26 years? -b'z_lgud”;.ﬂt';rbfﬁd‘!d’ﬁo-dgfﬂ
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